
SET-A 

BAEC-01 

B.A. Examination 

Micro Economics 

Paper- BAEC-01 

Time: Three Hours              Max. Marks : 70 

Note: The Question paper is divided into three sections A, B and 

C. Write answers as per the given instructions. 

uksV% ;g iz’u i= ÞvÞ] ÞcÞ rFkk ÞlÞ rhu [k.Mksa esa foHkkftr gSA izR;sd [k.M 

ds funsZ’kkuqlkj iz’uksa ds mÙkj nhft,A 

 

Section-A 

(Very Short Answer Questions) 

Note : Answer all questions. Answer of each question should be 

given in 30 words. Each question carries 2 marks. 

7x2= 14 

[k.M&v 

¼vfr y?kq mÙkjh; iz’u½ 

uksV% lHkh iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 30 'kCnksa esa nhft,A 

izR;sd iz’u nks vadksa dk gSA 

1. Give the answer of the following questions: 

(i) Define indifference curve. 

mnklhurk oØ dks ifjHkkf"kr dhft,A 



(ii) What is budget line? 

    ctV js[kk D;k gS ? 

(iii) Define Iso-quant curve. 

         leksRikn oØ dks ifjHkkf"kr dhft,A 

(iv) What do you mean by selling cost? 

         foØ; ykxr ls vkidk D;k vfHkizk; gS ? 

(v) What is Break even point? 

    lefLFkfr fcUnq D;k gS ? 

(vi) What is quasi rent? 

    vkHkkl yxku D;k gS ? 

(vii) What do you mean by extensive cultivation? 

foLr`r [ksrh ls vkidk D;k vfHkizk; gS ? 
 

Section-B 

(Short Answer Questions) 

Note: Answer any four questions. Each answer should be given 

in 200 words. Each question carries 7 marks. 

4x7=28 

[k.M&c 

¼ y?kq mÙkjh; iz’u ½ 

uksV% fdUgha pkj iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 200 'kCnksa esa 

nhft,A izR;sd iz’u 7 vadksa dk gSA 

2. Explain the law of diminishing marginal utility. 

     âkleku lhekar mi;ksfxrk fu;e dh O;k[;k dhft,A 

3. Explain cross elasticity of demand. 

    ekax dh frjNh yksp dh O;k[;k dhft,A 



4. Derive demand curve using price consumption curve. 

    dher miHkksx oØ dk iz;ksx djrs gq, ekax oØ dh O;qRifÙk dhft,A     

5. Write characteristics of perfect competition. 

     iw.kZ izfr;ksfxrk dh fo’ks"krk,a fyf[k,A 

6. Explain returns to factor. 

    lk/ku ds izfrQyksa dh O;k[;k dhft,A 

7. Why labour supply curve slops backward? 

     Je dk iwfrZ oØ ihNs dh vksj eqM+rk gqvk D;ksa gksrk gS ? 

8. explain innovation theory of profit. 

      ykHk ds uoizoÙkZu fl)kUr dh O;k[;k dhft,A 

9. Write the conditions of Pareto optimum. 

      isjsVks vuqdwyre dh 'krsZa fyf[k,A 

 

Section-C 

(Long Answer Questions) 

Note: Answer any two questions. Answer of each question 

should be given in 500 words. Each question carries 14 marks. 

2x14=28 

[k.M&l 

¼ nh?kZ mÙkjh; iz’u ½ 

uksV% fdUgha nks iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 500 'kCnksa esa 

nhft,A izR;sd iz’u 14 vadksa dk gSA 

 

10. Critically examine the law of equi marginal utility. 

      le&lhekar mi;ksfxrk fu;e dk vkykspukRed ijh{k.k dhft,A 



11. What are the three stages of production? Why second stage  

of production considered as rational stage of production? 

mRiknu dh rhu voLFkk,a D;k gSa ? mRiknu dh f}rh; voLFkk dks gh  

foosd’khy voLFkk D;ksa ekuk tkrk gS ? 

12. Explain equilibrium of a firm under monopolistic  

competition. 

       ,dkf/kjkRed izfr;ksfxrk ds vUrxZr QeZ ds larqyu dh O;k[;k dhft,A 

13. Explain Recardian rent theory. 

     fjdkMksZ ds yxku fl)kUr dh O;k[;k dhft,A 
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Paper- BAEC-01 
Time: Three Hours              Max. Marks : 70 

Note: The Question paper is divided into three sections A, B and 

C. Write answers as per the given instructions. 

uksV% ;g iz’u i= ÞvÞ] ÞcÞ rFkk ÞlÞ rhu [k.Mksa esa foHkkftr gSA izR;sd [k.M 

ds funsZ’kkuqlkj iz’uksa ds mÙkj nhft,A 

Section-A 

(Very Short Answer Questions) 

Note : Answer all questions. Answer of each question should be 

given in 30 words. Each question carries 2 marks. 

7x2= 14 

[k.M&v 

¼vfr y?kq mÙkjh; iz’u½ 

uksV% lHkh iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 30 'kCnksa esa nhft,A 

izR;sd iz’u nks vadksa dk gSA 

1. Give the answer of the following questions: 

(i) Define utility. 
mi;ksfxrk dks ifjHkkf"kr dhft,A 



(ii) What do you mean by marginal rate of substitution? 

izfrLFkkiu dh lhekar nj ls vkkidk D;k rkRi;Z gS ? 

(iii) Define elasticity of demand. 

ekax dh yksp dks ifjHkkf"kr dhft,A 

(iv) What is Iso-cost line? 

le&ykxr js[kk D;k gS ? 

(v) What is shut down point? 

mRiknu cUn djks fcUnq D;k gS ? 

(vi) What is MPP? 

MPP D;k gS ? 

(vii) What do you mean by intensive cultivation? 

xgu [ksrh ls vkidk D;k vfHkizk; gS ? 

 

Section-B 

(Short Answer Questions) 

Note: Answer any four questions. Each answer should be given 

in 200 words. Each question carries 7 marks. 

4x7=28 

[k.M&c 

¼ y?kq mÙkjh; iz’u ½ 

uksV% fdUgha pkj iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 200 'kCnksa esa 

nhft,A izR;sd iz’u 7 vadksa dk gSA 

2.  Derive demand curve using indifference curves. 

mnklhurk oØksa dh lgk;rk ls ekax oØ O;qRiUu dhft,A 

3. Prove that Ed= 
𝐴𝑅

𝐴𝑅−𝑀𝑅
 



    fl) dhft,% Ed= 
𝐴𝑅

𝐴𝑅−𝑀𝑅
 

4. Derive short run marginal cost curve from short run total 

cost curve. 

vYidkyhu dqy ykxr oØ ls vYidkyhu lhekar ykxr oØ O;qRiUu 

dhft,A 

5. Write characteristics of monopoly. 

      ,dkf/kdkj dh fo’ks"krk,a fyf[k,A 

6. Explain returns to scale. 

      iSekus ds izfrQyksa dh O;k[;k dhft,A 

7. According to Keynes what are the motives of money 

demand. 

       dsUl ds vuqlkj eqnzk dh ekax ds D;k mís’; gSa ? 

8. Explain social welfare function. 

      lkekftd dY;k.k Qyu dh O;k[;k dhft,A 

9. Explain Bliss point. 

fCyl fcUnq dh O;k[;k dhft,A 
 

Section-C 

(Long Answer Questions) 

Note: Answer any two questions. Answer of each question 

should be given in 500 words. Each question carries 14 marks. 

2x14=28 

[k.M&l 

¼ nh?kZ mÙkjh; iz’u ½ 

uksV% fdUgha nks iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 500 'kCnksa esa 

nhft,A izR;sd iz’u 14 vadksa dk gSA 



10. Explain consumer’s equilibrium using indifference 

curves. 

mnklhurk oØksa dh lgk;rk ls miHkksDrk ds larqyu dh O;k[;k 

dhft,A 

11. What is elasticity of demand? Explain various 

methods of measuring elasticity of demand. 

ekax dh yksp D;k gS ? ekax dh yksp dks ekius dh fofHkUu fof/k;ksa 

dh O;k[;k dhft,A 

12. Explain equilibrium of a firm under perfect 

competition. 

        iw.kZ izfr;ksfxrk ds vUrxZr QeZ ds larqyu dh O;k[;k dhft,A 

13. Explain the distribution theory of marginal production. 

         forj.k ds lhekar mRikndrk fl)kUr dh O;k[;k dhft,A 

 

 

 

 

 

 

 

 

 

 

 



SET-C 
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B.A. Examination 

Micro Economics 

Paper- BAEC-01 

Time: Three Hours              Max. Marks : 70 

Note: The Question paper is divided into three sections A, B and 

C. Write answers as per the given instructions. 

uksV% ;g iz’u i= ÞvÞ] ÞcÞ rFkk ÞlÞ rhu [k.Mksa esa foHkkftr gSA izR;sd [k.M 

ds funsZ’kkuqlkj iz’uksa ds mÙkj nhft,A 

Section-A 

(Very Short Answer Questions) 

Note : Answer all questions. Answer of each question should be 

given in 30 words. Each question carries 2 marks. 

7x2= 14 

[k.M&v 

¼vfr y?kq mÙkjh; iz’u½ 

uksV% lHkh iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 30 'kCnksa esa nhft,A 

izR;sd iz’u nks vadksa dk gSA 

1. Give the answer of the following questions: 

(i) What is marginal utility? 

lhekar mi;ksfxrk D;k gS ? 



(ii) Define elasticity of supply. 

iwfrZ dh yksp dks ifjHkkf"kr dhft,A 

(iii) What is Giffin paradox. 

fxfQu fojks/kkHkkl D;k gS ? 

(iv) Define marginal rate of technical substitution. 

rduhdh izfrLFkkiu dh lhekar nj dks ifjHkkf"kr dhft,A 

(v) What do you mean by normal profit? 

lkekU; ykHk ls vkidk D;k vfHkizk; gS ? 

(vi) What do you mean by profit? 

ykHk ls vkidk D;k rkRi;Z gS ? 

(vii) What is VMP? 

VMP D;k gS ? 

 

Section-B 

(Short Answer Questions) 

Note: Answer any four questions. Each answer should be given 

in 200 words. Each question carries 7 marks. 

4x7=28 

[k.M&c 

¼ y?kq mÙkjh; iz’u ½ 

uksV% fdUgha pkj iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 200 'kCnksa esa 

nhft,A izR;sd iz’u 7 vadksa dk gSA 

2. What is price effect? 

dher izHkko D;k gS ? 



3. Explain the relationship between total utility and marginal 

utility. 

dqy mi;ksfxrk o lhekar mi;ksfxrk ds e/; lEcU/k dh O;k[;k dhft,A 

4. What is the difference between fixed cost and variable 

cost? 

fLFkj ykxr o ifjorZu’khy ykxr ds e/; D;k vUrj gSa ? 

5. Explain short run supply curve of a firm. 

    ,d QeZ ds vYidkyhu iwfrZ oØ dks ifjHkkf"kr dhft,A 

6. Explain least cost combination of factors. 

     Lkk/kuksa ds U;wure ykxr la;ksx dh O;k[;k dhft,A 

7. Explain the relationship between AC and MC. 

vkSlr ykxr o lhekar ykxr ds e/; lEcU/k dh O;k[;k dhft,A 

8. What is difference between perfect competition and 

monopoly? 

iw.kZ izfr;ksfxrk o ,dkf/kdkj ds e/; D;k vUrj gSa ? 

9. Define social welfare function. 

lkekftd dY;k.k Qyu dks ifjHkkf"kr dhft,A 

 

Section-C 

(Long Answer Questions) 

Note: Answer any two questions. Answer of each question 

should be given in 500 words. Each question carries 14 marks. 

2x14=28 

[k.M&l 

¼ nh?kZ mÙkjh; iz’u ½ 



uksV% fdUgha nks iz’uksa ds mÙkj nhft,A izR;sd iz’u dk mÙkj 500 'kCnksa esa 

nhft,A izR;sd iz’u 14 vadksa dk gSA 

10. Explain the law of equi marginal utility. 

      le&lhekar mi;ksfxrk fu;e dh O;k[;k dhft,A 

 

11. Prove that price effect is sum of substitution effect and 

income effect. 

      fl) dhft, fd dher izHkko izfrLFkkiu izHkko ,oa vk; izHkko dk 

;ksx gksrk gSA 

12.  Explain equilibrium of monopoly. 

        ,dkf/kdkj ds larqyu dh O;k[;k dhft,A 

13. Critically examine the liquidity preference theory of 

interest. 

        C;kt ds rjyrk vf/keku fl)kUr dh vkykspukRed O;k[;k 

dhft,A 

 


